M <RNBIRAE)

113 FESESEASEVRHEER
114 %2 825 HOEETRM 113 FEANMBENGHER - HFFERTEROT ¢
A - FMAEEE | R EIE BREIAE AHEAR R et
EFZAEE - ¥ | 1130101~ |1 %’9‘“?““”2% AR E 1908 4.67 AHEAERD D 5 EER -
RESE 1131231 2RAESERRME 20 84.92 VUM ERETRE !
3 %%@ﬁ%@—iﬁi% 3 ¥19778 5.00 HF1: hE
AEFZEERGEER 4319781471 HF2: =
5 AEFZES] 59N 8 4.57 HF 3. hE
FUEAEMO/IRR  FERAESEY 854 &
PNEEBZEE HF5: e
ESFZNEEFN - & | 1130101~ |1HAG2EZZHIER 1978 4.75 A AERD % 5 EER -
FEI = 1131231 2NEMEETRERA 219781 4.60 VUM ERETHE !
3IRANBEEREZETRERME 3 19778 5.00 HF1: HE
AR ESHEMAAEET |4 F19778(5.00 HF2: =
5 AERIZEH 578 4.50 HF3:hE
TEELD/IRER  FERRERE | BF4 8
EkEE =5 Wi
EFERAEF - # | 1130101~ |1HACIEEZSHER 1978 4.75 A AERD % 5 EER -
[ EI=E= 1131231 2 INBEMEZE SR ERA 2 1978 4.80 VUM ERETRE !
3IRAMBEEMEZEERRME 3 ¥197785.00 HF1: HmE
AR ESHEMAAEET |4 97 814.67 HF2: =
5 AERZES] 5978 5.00 HF 3. pE
SHNEEOD/IREE  RAZEEZZ (HF4 . &
BREE HF5: HE




EFERABEFT - K | 1131112~ |1 HATIEEZSHER 1199781 5.00 A AERD % 5 EER -
BREERET 1131231 2 INBEMZE SR ERA 2 0¥ 4.67 VUM ERETRE !
(CKERREZE | 3R Efﬁé ZORKME 3 ¥19758 5.00 HF1: HE
BEER 113 |4EMEESHMNMEERETE |4 F197985.00 HF2: =
F11H12 |5 W%BE%U 51978 5.00 HF3:hE
HES=g8 FEmELE/IEE - |EEE H74: 8
#BRYII) Al IR KT EEIR HF5: HE
EEHT - ERlES | 1130101~ |1 ASIEHZREEHEZZE 197 84.95 AHEAERD R 5 ESER -
8 1131231 2 ESHERA 2 08 4.95 VUM ERETRE !
3HNEIEEZSHERER 3908475 HF1: hE
4 A BEBRAZ BB 4319781481 HF2: =
S5 EFVEFXRKFHEEE 5978 5.00 HF 3. hE
6 AIERIZH] 6 *F1977%05.00 HF4: 8

TREEO/IRER  RAHATZEE

ZH RS E NN 2R A




